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1. Given the equation: 8x+ 6y + 12=0

A) What is the y-intercept?

Answer:

A) What is the x-intercept?

Answer:

2. a) What is the equation of a line that would give you the following table of values?

b) What would the value of ‘x’ be?

X ¥
-3 | -61
2 -1
X 47

a) Answer:
b) Answer:

426



3. What is the equation of a line with an x-intercept of 6 and a y-intercept of -18?

Answer:

4. a) What is the equation of the line represented in the graph at right?

b) What is the value of ‘x’?
X

(3, 44)

7‘

a) Answer:

b) Answer:

427



5. Which of the following equations represents a line perpendicular to 4x + 3y + 12=0?

A)3x+4y-8=0

C)-3x+4y-8=0

4
D) y=-;x+4

6. Line ‘L’ has equaﬁon -4x+5y-10=0.
What is the x-intercept of the line perpendicular to ‘L’ that passes through point P (12, 15)?

\p

-4X + 5y-10=0

Answer: ( 5

428



7. What is the x-intercept of line 2?

y N
\ line 2: ?
N X
linel: 2y + 1x-4=0
-18

Answer: (

429




